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T.3 H. Nuclear Physics IInd Paper M.M.50 -
RT3 PART-A 1. §92 0= % IS ST | Define impact parameter.
2. 1 % SR L B 2 TR TR Fbid g —1.9 1, Bl & 1 4t ?
" Neutron has zero charge but ithas—1.91p,magnetic moment. Why ?
3.5 Ni am"‘lnmﬁﬁaﬁﬁmaﬁm@ﬁwam% ?
What is the ratio of the radius of 3 Niand 'y Innuclei?
4. e arffsramall @t el Sl qHET |
Ex plain the threshold energy of nuclear reactions.
5. 1gm™ Tha Rk s B4 | (RA g (Ay, = 1.58x10™ sec™)
Calculate the activity of [gm Th(Given (A, =1.58x10""sec™)
6. MET T Bl o 1 & ? Whatis Geiger Nuttal's law ?
7. ORI @ AT ARG ¢ ! o

What do you mean by multiplication factors ?

8. Tt ARET Gaa B R dieaT Hard @t ot @ fIRaT | Write the
condition of the Lawsen criteria for self sustained nuclear fusion reactlon
0. ST SFHERIRE & T 0T 81 =feT |
“What should be the properties of the quenching agent ?
10. faferrar @t aftnfea SIS | Define Strangeness.
w-4 PART-BE#E L. (& )WW@%W@WWWW |

Describe ‘the experlmental verification of Rutherford's scattering
formula. dYar /OR

(a) i & ST ST 5 2 B X ol 4 ol e
Describe the Mesonic X-Ray method to determine the size of the nucleus.
s 10 (37) 0 qﬁzﬁaﬁnﬁfqﬁﬁmaaﬁwﬁaﬁﬁﬁu |
Calculate the binding energy per nucleon for, O nuclei, (f&@r1 g1 / Given)
M( }0)=15.9942amu, m,=1.00867amu 8m =1.00728amu  EET/OR
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(5) T F 0131 Hggior st s & anfearer N (o, P) 4O F 1T Q
BT HM §1T BINT | Calculate the Q value of reaction % N(a, P) s O Wh-mh
occurred in Rutherford's a-partice scattering with nitrogen experiment.
(%=1 831 / Given) m. = 1:00867amy & m,=1.00728 amu
& 10 (&) 30 et & amest, e (ST o FeRafees (9

I & 9o FHiRvTT | ‘ | |

- Explainthe ideal, transient and secular equilibrium in series decay.&tar / OR
(3) B-Rer edifiex 1 R, IO e o ) EHEET |
Explain the principle, working and uses of B-ray spectrometer. -

TR IV, (&) et Raleet & =21 =6 3 o v ) eamg |
Explain the four factors of neutron cycle inanuclear reactor. €@r/OR
() 1febciiame sadiRa @ wemm & Prfe ot 2 mor B |
Calculate the energy released in the fusion of 1 Kgm deuteron.

T V. (%) gt 1w @ R @ rigoeh @ aHETE |

Explain the principle and working of proportional counter. %@t/ OR
(3) 3 weft arffpand orgre @ & R T sifRETST T o B9 X' @ 5

HINTT | Find out the unknown particle 'X' in given reactions if all reactions

are allowed. : o

(7 +PoK'+X (i) K+P—K +X (i) P+Po>n"+n'+A°+X

(iV)T'+n—>X+3X° | ‘ o
A9 PART-C 1. =1 9X gt feraaefy fafa | Write short notes on following :

(i) AR Fh9T | Nuclear Spin - (i) IR | Pa‘r-ity

(iii) AT FHh GﬂT‘f | Nuclear magnetic moment.

(iv) %r@ ﬂ@ﬁiﬂ EMTT I Electric quadrupole moment. o

2. ST S 2 G Y R oo w7eies SRaR & e B8
BT T bt E a1 bl T |

Write the semi empirical mass formula and also explain the predication
of stability against B-decay for members of an isobaric family.

3. Qe 987 % SR W 0011 & FeeorT H1 THEE |

Explain the a.-particlés emission on the basis of barrier penetration.

4, KT &t B BT Fr R 7 WWWP-P-EI%@%W@(WW |

What is the source of energy of stars ? Explain the carbon cycle and P-p
cycle in the detail.

_5.(i)B—WﬁW’W%W%W&@WHWW | Doseribe
the experimental evidence of violation of parity conservation in B-decay
(ii) C.P.T. 993 &t fafaq | Write C.P.T. theorem. - '
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